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Er=ii+frqfr{TI

gr vr<- q?t + ffi A sct frs qs ftuift6 .lFlra q{ 3xqqr

srgscrfi Rfr'sq r

2. {rft csi * gf,( Afrs t

3. qsft er"+ * r* qqr,Te r

4. crql* + r{rJlf'd \qi {rE dftS I

qTclq +d-{+ir 3q+rr fr sr:qR * r

E{ erFr-wl tfiI 3tR sfidt qT GA ffi \-6 t{rsl + afuq, efu{

n"t lrat qr qnqc gs ff Et{r sGq t

(i) "Financial Management is concerned with the

solutions of three major decisions a firm must

make, the investment, the financing and the

dividend decisions." Explain this statement

highlighting the inter-relationship amongst

decisions. Q)

19

(o-) tff t-<T{r + frtrtiur + qrffir+' frft-q q,co er *t

(te) \'&fr ftfras d 
"rq 

sd * qrffi6 Rqt€ t 3nqs)

ffift*a qm+rt vEr< fr vrft B:

s-{ m q.qr€ {r8,00,000

sM mi m {@r 3,00,000

frtsr qr cfrs-m 1wt*sn{ ) 22.5o\o

gBq& d ar{rd 15.00%

(i) sr€{ {ro or oc+r ort Eq'ql-fr 6r dr$Imr

Yrrdr{ d-dqrd nTd dkq ilB iq( 61 fr{er

{42 qt {ft Gr

(i;) srfi.ifu( + ir{m EEfrc amv yr<r+ rgvrar

dqr EE(q arqnr TT-dH 3r{Crd qr ffi tq{ str

srmR Ts 6r(I dfrqr

(iii) eroat.fi-co * orSn slfufi-{c vs q+at tm

{l+ er *m?
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(i) Find the company's dividend payout ratio

so as to maintain the share price at ?42

using Walter's Model.

(ii) Find the 'optimum dividend payout ratio'

and the market price of a share at the 
.

optimum dividend payout ratio as per thJ )
Walter's odel.

(iii) What will be the maximum and minimum

share price as per the Walter's Model.

(10)

Or

Write Short Notes (any three)

(i) Operating Cycle

(ii) Bonus Shares

(iii) Agency Problem

(iv) Role of Finance Manager

(ii) What is the minimum amount which a person

should be ready to accept today from a debtor

who otherwise has to pay a sum of {5,000 today

t6,000, (8,000, t9,000 and 110,000 at the end of

year 1,2,3,4 respectively from today. The rate

of interest may be taken at l4%. (8)

Or

(i) What is the relevance of time value of money in

financial decision making? (5)

(ii) ABC Ltd. is planning to buy a machine for

{3,00,000 which is likely to bring the following

earnings in the coming live years:

Years I 2 3 4 5

Eamings ({) 1,00.000 1,10,000 1,20.000 1,24,000 1,30,000

3

)

)

(v) Implicit cost of Capital (3xs)

P.T.O.
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qTThe purchase of machine will result in increase

of working capital by t30,000. The machine will

be depreciated on Straight Line Method Basis

and has a salvage value of 50,000. The tax rate

applicable to the company is 30%. Find out the

Initial, Subsequent and Terminal Cash Flows from

the machine. (10)

(i)..ffi rqtn fi-{ ngl< ffi * rqnrmt ffid t,

ftri go s{ d +n 
"rG.s, 

fran, ffiqq ii{ i{rqmr

ffqr" Fph + +s ird{-Rrr q( y-mpr srf,i Es E€

6'q;r * qnqr qir (z)

(ii) T6 -qffic nfrr wr * fr go' qk d sne gs t{ER

+ d-+.R q.-{+ + fts +m{ +{r qrBs, ftT+ srqqr Brq

(5,OOO, 3rcr + S".r9r t, 2, 3, a Sd * 3rfr t rO,OOO,

{8,000, {e,ooo *t to,ooo d nRr gm'rff *r erw

* < ra% tr qr q-r& *r

(i) stc-dr Aq{ + EEhs MFA d q"ar urar *? sft{fl

tR * Hr -ETqt Bfu 3o'<m B?

(ii) \6 s{ fr G-ff {4o,oo,ooo, qfrffiq arrm {2s,oo,ooo,

Rn arrro <6,00,000, lo% Eqc? <3o,oo,ooo iten

ffidr 3ilr 1fr <as,oo,ooo tr qfurrc r+m{, ffic
Y*ar tqr cesm{ T+ffi * rrqar qir

(a) What are the various factors relevant in

determining the capital structure. (5)

(b) From the current year's annual report of ABC

Ltd. the following information is supplied to you :

) Earnings of the tirm I r 8,00,000

Number of Equity Sh ares 3,00,000

Return on Investment (ROI) 22.50%

15.00,%

)

5

)
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B{ftRffi qn6rt: t.r rrt vfo$+ 61 6T+qR qft muit {
dm *r g+ {rt yfu(frqt* + rrfrqr srmR Tq E< ron *:

Rtfl @ <uo cR €aq{, strdr +cr 6 <rzo rR t+t sfu

ER{A iq{ @ <za xR i+tr

srd ffiqq d or+ct qr r+n t

(i) {ro0 cR G+q{ acT€ qq ffiq; zo sS d qfuft-dr,

9% qr;r q{, 3% JTeIr& arrrt, fr-ff {g ttoot

(ii) cfr stTdT ic( {roo, (IFIFI tR +s-{ +Ic: t6 s{ fr
qRc-ffifl, r% dlrffi qr, 4% iren& ar.n, ffi au
<1001

(iii) Effi *+<: <a cR iq{ daffi arra sfu ffi Aa

<24

gc* srarer, s{ + ii-d t EM M q< srtfka arrnsr rs

sfr *c{ *; ilq{r + e-eTFI( gk E ox +r ud orsfr

{rt 6cri ilqrrr a sq t tft *r qift:e ot d qt ao%

er
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(i) ffi trc A+ I m * {cc Ts * crffir+ar wr

*? (s)

(ii) vftff ftRts s,oo,ooo wA fr Hrrrt t v+' cfi-{

reH d *e-fl {{r rff +, ftffi+ ir+ sr+ q" sfr
)

+ ftqfrftdd s{rc *+ tf,r qrrr+fl i

qI{ I 2 3 1 5

6'{r{ (9 1,00,000 1,10,000 1.20.000 1,24,000 1,30,000

rfi{ m refu t 6dftd S + {so,ooo fr gk *ft,
qfi-aqrqserstfit€r EE + srnm q< Bqr vrvm

a-qr{ Tg 5o,ooo *l effi q< aq o-t fr
et 30% +r nfrl + B{rtF-6, irddtr i{t zfln-d 1*.'&

JIC{TE tfiI qiII RTITq I

(i) "Wealth Maximisation is a better criterion than

Profit Maximisation." Do you agree? Explain.

(5)

)
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(ii) A firm is considering a proposal of installing a

drilling machine. The machine would involve a

cash outlay of (6,00,000 and working capital of

t80,000. The expected life of the project is 5

years. There is no salvage value. Assume that

the company charges depreciation on straight

line basis for the tax purpose. The pre tax cash

inflows are as follows :

Yea, I 2 l 4 )

Pro tax cash flows 2,40,000 2.75,000 2.10,000 1.80,000 1,60,000

The applicable tax rate is 35%. The firm

anticipates its cost of capital to be 12ok. You

are required to calculate

(a) Pay Back Period and

15

Or

(i) Why preference share is called a hybrid security?

What are the advantages and disadvantages of
preference shares? (5)

(ii) A firm has sales of t40,00,000, variable cost of

?25,00,000, fixed costs of {6,00,000, 10%

debentures of {30,00,000 and equity share capital

of ?45.00.000. Calculare operating leverage.

financial leverage and Operating Leverage.

( l0)

ffit{d iln-ort + sftjrR rR qsrR Ter rrR 6l sq+r

m..+ Eff d qrfr'fr *co er.rr Fqifu qi,

cff 1* <r++

Rtat (<roo cfr C++t) {r2po,ooo

stq-dr +qr (noo vfr *m) t6,oo,ooo

EM Aq( (<ro xfr tm) {24,oo,ooo

yfrrnfu slc t8,oo,ooo

gd <s0,00,000

P.T.O.
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Retained Earnings {8,00,000

Total t50,00,000

Additional Information: All these securities are traded

in the capital market. Recent market prices of all

these securities are: Debentures @ tll0 per

debenture, Preference Shares @ {120 per share and ;
Equity Shares @ {24 per share.

Extcrnal Iinancing opportunities arc :

(i) ?100 per Debentures redeemable at par: 20-

years maturity, 9olo coupon rate, 3o/o floating

costs, sale price { 100.

(ii) {100 per Preference Share redeemable at par:

l6 years maturity, l1% dividend rate,4oA floating

costs, sale price ? 100.

(iii) Equity Share: {4 per share floatation costs and

sale price {24

In addition, the dividend expe cted on equity shares at

the end of the year is {3 per share; anticipated growth

rate in dividends is 6%. Company pays all its earnings

in the form of Dividends. The corporate tax rate is

40%. (t5)

OR

(i) What is meant by systematic risk? Explain with

a suitable example as how it differs from

unsystematic risk. (5)

(ii) Impex Ltd. Is considering the purchase of new

machine. Two alternative machines A and B have

been suggested, each having initial cost of

t10,00,000. Net cash flows are expected to be

as follows :

Year Machine A Machine B

I 1,00,000 3,00,000

2 3,00,000 4,00,000

3 4 00 000 5 00 000

4 3,00.000

5 4,00,000 2,00.000

7

)

P.T.O
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The company has a target return on capital of

l0o/o and on this basis calculate the Net Present

Value and the Profitability Index for the two

machines and state which alternative you

consider to be financially preferable. (10)

(i) 'flq serrcfi=srrr * ga-+ i er< 3lfu6-flfi-fi-rur ys'

+6-d{ cTTds " eqr iflT ga{d l? Rq *frql

(ii) !-+, rF{ &ftr qfi-{ a{ri * xr<re qr G-sR 6-r {ff

ir qfir d <6,00,000 6r *E€ qq *t <eo,ooo fr
qr{fi-d Tfr nrfi-a *rftr cfuttr{r 6r sqfu{ fi-fi s

q{ *r +{ cqn q 
'rff il qrc dfrq fr oH qr

3tra + fts ftn tr<r * intm qt qs5m sqi-& *r

ar gi a-m.q vtn6 Es czFR * :

l3

Aqr.rr Bri6.i < ii

aff 80.000

iiflrrrqffffs( 5 6,000

vrtft-+qm qrr rlq

$.r 9.000 12,000

+{ER 12,000 16.000

ffi 7.000 I0,000

\'6- s{ + 360 f{ cI{+ gq qRsrffi Tm' * ff wr

B?

Determine the weighted average cost of capital

using Market Value Weights based on the following

information :

2523

4

I

Book Value Structure

Debentures ((100 per debenture)

Preference Shares (t100 per share)

Equity Shares (?10 per share)

{ 12,00,000

t6,00,000

t24,00,000

P. T. O.

qf t 2 3 4 5

mr f4 q-{ff e-{r{ 2.40.000 2,75,000 2,10.000 1,80.(x)0 1.60,000

ar{ qt * ?r 3s% er s{ d srrft gff d mn
12% i+ qr ir{cn ir iilT+f grfr {um Elft +ff

8
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fti f< w 3{H't ve$ ftRas + ga o,dfi-d tfr
srFrr.Ffii 6T irEclq *qn qt 

'

(a) Srmm ircET 3ih

(la) orffia ffi et

(i) qq'Rrd *Fqq qT trtt qimr i? uvgffi sercior +6r

trsrcs fr qa r;q-qRro *k{ + fr'{ ron F-q*r

(ii) E+fi ftfras r€ rfi-{ rEH qr frqR 6r rn ?r i
no,tu+, cff+ A efu B Ear{ld +, frr<q.. t y-++'

+ srrfr-+, Hrrrd flo,oo,ooo *r Ea roft rqr6 ffqEaR

ii 6 vsfi-e *:

49 wftrq ccfi-{ ff
I 1.00.000 3,00.000
2 3,00.000 4.00,000
3 4.00,000 5,00,000
4 6,00.000 3.00,000
5 4,00.000 2.00,000

6!-ft i tff qr ro% 16r trer ff'rcr * efu gs onm<

qt ffi qffit- * fts Vd rdcm {fl *t arqrcn

qq-61+' ft1 :rum cft- sfu {dE} ft enq frq fro-s

d ffiq sq * *r+< qni ir

2523 9

qT
sS * +ir+ Tilrfi

fr*q {s
t6=II qld

r-dr$

3Rw
q'd crd fr q-snrr lrsE

sT{ vrrR qt rgRuI irqE

*qn qra d qsRur erdfu

ilt-d+*Be*st-Scfr
silqffi.*'at Er<r d-grd +E

qn-ar <+-e iv nFr

+d-{ *: ffiqs

oo,ooo Eor{

{s yfr Eq,r{

60Yo

loYo

2OYo

z rr&t

I qI6

s {A+

s rff+

z q&i

{20,000

r q&-+

)
zn

(i) llne ifu serre 6r4fi-d Tfr fr sr+mun a} qcar{sr

(ii) ffi frfrs s{ * fts ffiR+d qmorft zors d
qqrw ffiq s{ + frs \'6.GHq q.H + qG:qt-+

fi-or& rr€ il
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Prepare an estimate of net working capital

requirement of ABC Ltd. from the data given below:

Production during the year 60,000 units

Selling Price {5 per unit

Raw Material 60%

Wages t0%

Overheads 20%

Raw Material storage period 2 months

Work in Progress storage period 1 months

Finished Goods storage period 3 months

Credit allowed to customers 3 months

2 months

Minimum cash balance required ? 20,000

Wages and overheads 1 nronth

2523 11

(i) Explain the concept of Permanent and temporary

working capital. (5)

(ii) The following information for a particular year

has been extracted from the books of a

I manufacturing company for the financial year,
ended 2015.

10

3

)

What is the length of the operating

assuming 360 days in a year?

cycle

(10)

Particulars Figures in {

Sales 80,000

Cost of Goods Sold 56.000

Opening Balancc Closing Balance

Inventory <) 0(x) 12,000

Dcbtors 12.000 16,000

Creditors 7,000 10,000

Or

P.T.O

)

Credit allowed by supplier


